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R 35

14.85

R 35
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10. 02

14.12

R 35

31.24

R 35

R 35
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R 35
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R TR2234E68128 (B) Z4—)FEEH-F 2-ERE-RE] -2k ((BF]-%F)
S R [20] BREAf FRAEBYRI—ABELBHETERS -F [11200006] BABEHE BBHH
BREHNE FEAE
BRiEE ENKTEREAR -+ [201020] SHREE . MARHE
[ [ [ [F
# A A/B| #8 | BE [ BEEsa R O |4 BEES R O | BEES R O | BEES R
M35 6/12 128 8= 1. 66
BB AT
M35 6/12 128 2= 6.13
FEE B AT +1.8
M35 6/12 128 2= 12.02
=Rk AT -0.2
M35 6/12 1THE AR 9.52
Bas =R
M35 6/12 1THE AR 24.98
[hidid =R
M35 6/12 RA R U3
wi-1% Ed54
M35 6/12 HE B2 x5
PYE BARS
W40 6/12 T L& & 6.03] 2 &4 %A 576
FEE B R +0. 4 AT +0.3
W40 6/12 T I0F &B— 11.09
=Bk AT 0.0
W40 6/12 BECED 8.82
Bas AT
W40 6/12 138 2— 22.33
N3-3% FI
W40 6/12 1 78l —8h 17.68] 2 BB f2— .77
LY % tA® FI
W45 6/12 1T aE =5 538 2 & B—ER .51
FE R B HEEAR +0. 8 AT -0.9
W45 6/12 & 52— 11.29] =R = R WE F xR
=Bk EnyiR +0.4 b1 AT
W45 6/12 18 me 10. 12
Bas B8R 1L TH
W45 6/12 1RBE "z 33.66] 2 A B— 21.15
[hid e BRI AT
W45 6/12 1 5% WE 39.71| 2 IBE mz 30.43
N3-3% EHH B8R 1L T
W45 6/12 1% B2 16.31| 2 IXE % 42.95| 3 k@A Ex 31.59| 4 &M@ BE
LY % B3R HE AT BESISTH EEEAK
W50 6/12 188 =X 1.63| 2 B7)Il F% 1.35
EEB AT AR
W50 6/12 T /NI &8 3.60
EE EHH
W50 6/12 TR BB 490 2 &Il 0k 456 BB ®X x5
FEE B W IHET -0.6 ERT -1.9 AT
W50 6/12 BE @BX U3
=Rk AT
W50 6/12 T/\# B 24.61| 2 /MR B 22.60
bt BETHREAA REHH
W50 6/12 TV BE 39.19
N3-3% EBH
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BEENE GEAE
BRiEE ENKTEREAR -+ [201020] SHREE . MARHE
[ [ [ [
# A A/B| #8 | BE [ BEEsa R B8 | BEES R O | BEES R O | BEES R
W50 6/12 1T B 36. 88
LY T BETHREAR
W55 6/12 1500 & 1.45] =& 52 EERAL
BB BEEtH tEH
W55 6/12 EEIEIN 2.70
Ea bk FHH
W55 6/12 TR 52 10. 51
=23 EA® +0. 6
W55 6/12 T B— 9.18] 2 = &8 8.88| @@ == X
Bas REHH SR AT BERIE
W55 6/12 T B— 25.04] 2 =& fEER 22.23] BE RE x5
[bid e REHH SR AT BERIE
M55 6/12 2A = Ri5
- BERIE
W55 6/12 T 500 & 35.51] 2 =& {888 25.55
PY&% BE=E+th EEET
W60 6/12 15 B= 112 RE & XE| IR B xRz
FEE B 8 1LY +1.5 I 2 U5 £ AT
W60 6/12 GRS 12.67] 2 20 BE 10. 73| 3 eq — 7.20
Bas BHHES HE=BTH Wk
W60 6/12 180 ME 37.94] 2 M@ B8 36.81| 3 F W 35.39 4 B X&
bt HE=BTH BESET BHHES BB
W60 6/12 MEGE 1480 2 E B 34.68
-5 BHHES BESHE
W60 6/12 TEE KX 37.48] 2 A0 BE 3493 3 M@ BB 33.01| 4 @ K
PY&E HEREERR BE=BtH HESBH +tHEH
W65 6/12 T=f Bx 3.35
FEE B W )IEER T +1.7
W65 6/12 1T &%AK BR 10.82| 2 =F M=% 8. 78| 3 &% M= 8. 21
Bas BESLVFEH W IEER T AT
W65 6/12 1T 8%AK BR 36.20( 2 BLF IRE N IREESS 26.64| EE U5
[hid e BESLVFEH EREET HE AT BESRAT
W65 6/12 18%AK BR 30.06] EERE D5 xR
- BESLFER BES AT
W65 6/12 T=f Bx 34.96] 2 &f8 MR 31.18] 3 BLF /B 23.59
LY % WA AT RREEN
W70 6/12 ER 5AH xR
EE TEREAAT
W70 6/12 T &R &5.a50 3.67| 2 AEE B 353 R =® xR
FE R B T IREAET +1.4 NIIEs] -0.2 LEINES o
W70 6/12 ET 8.83[ 2 LD 7% 8 18
=Rk AT +1.0 LEINE 4 +1.0
W70 6/12 IEEES 8.63
Bas EEENTH
W70 6/12 TILE 2—8 37.63] 2 fake cah 2451 3 B =X 23.67
[hid e EHH AT EEENTH
W70 6/12 TILE Z2—8% 35.30| 2 B EX 28.63
-3 EHH EEENTH
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BEENE GEAE
BRiEE ENKTEREAR -+ [201020] SHREE . MARHE
[ [ [ [
# A A/B| #8 | BE [ BEEsa R O | BEES R O | BEES R O | BEES R
W70 6/12 ET 38.33] 2 LA Z—&} 31.60] 3 IR BAA 17.63
LY AT EHH 87 F
W75 6/12 THEAR Bx 23.32
[hidd tEH
W75 6/12 THEAR Bx 2511
N1 tHE™
W75 6/12 THEAR Bx 18.78
LY tEH
IE) 6/12 TR E= 15. 06
hidd /R ET
IEY) 6/12 TR E= 13.55
1% /N R
IEY) 6/12 TR E= 14.09
ByE /R ET
W85 6/12 1 %%0 &8 6.43
Bas REHH
W85 6/12 AR EE xRz
Py el ysdin
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20. 58

19. 61
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